28860 [ZEHWIE] O
HREMEREN\DIRDHM>

e+ FIIRET 2FRE! AR BEEEE

1 BERREMGSTEYY —BEY

RNEFHRD

2 MO ZZEMBR Y b




[ =2 HES )
1260
JT'EB

I’I

~5ocl
S~ :j
_J
ELI_JDD@
_ *EB%?@P%
O §'
- EE)
/m Iﬂ_\ .
JT’EB




SIEMB OEERE (1)

= .

Axm D

f

LG © 13

=

o)

B E

PN



[SEMBT) OEEDE (2)




=ZMEE OFF (1)
— Rz EDLLE (FERE1I)




=2 OFET (2)

—RRFSCDLLER (BELEHID)
—fix% | ERME

unlERZNE=S 2.1 kg 2.0 kg
thia] 5 in B 177 En

FREEE 4 ke/YY O kg/¥
%701 S —ILESREH




5= 889

=ENDRE

EICERRE NS
=~E IR EF R




— X T NER

LI XA F IV ASBSIRELR TS
 EnTFE (—IBEEEH)
A/AZ, A/CE, C/CE
. 1/-'[-\53/\0)%%
A/ATEE > A/CE > C/CEH

X (RUITEUAAN) B3 « BREFEMGHIFHE
=B ES U SNPTIZHIB R



B FEHIETDE



B (1) BRBOFEBHEAR
MR - HISICHEN RS SR TR EER

S e

BRYTT BRYTT
RE=H? DRPR?

BRY1D
RBEROQL




EIRSR (1) RIBONR

FHEZD REXR (%) xm=x
NREH {HHS
R IR (BZEE)
6 1
H24 35 25 (GO
7N
H25 43 26 (S0)
H26 == 7S A

(100)



A (2) =RMBORSUHRE
RRYAT - BRYA T

 SREHERE

ABY1D ¥k 2 5F48~T7TFE
BEANMT k26 F48~TE
3B & B Y1 7T71,000FD

- REIRHE | AE, BANEE=




RIEINR (1 BiEET)



RSN (BBEkET)

AP

X L



BENR (168#mET)

AP

X L



fask ARYTT (H25)



fask ARYTT (H25)

AP
XL

R

O 3 115@%%14 17 20




S BRYMT (H26HE)



HEMINRMR GiE)

i

FR1ORWERE (HEHTID)

ARY1IT BRHYAD

unl k% NE=S 2.1 kg 2.0 kg
thia] 5 in 17 Ein 16 12HD
BASEESE O ke/W 3.3kg/ I
p g 5,400/ 5000/0F-
X041 >—IE8STAREN (60H/ t)




- BINIE

' A%IE

-
s FERERMDQ L

1Y
I

F ENLUEN

1;d:b
7~

« FFHTE
20233




